Considering that Erasable
Memory has a 10-bits
address bus, can directly
address from 0000 to 1777
(form 000 to 3FF in Hex)

ADDRESS

available for

the CPU

v

0000

0377

400

0777

1000

1377

1400

1777

ADDRESS

implemented
in Hardware

EO0 overlap
EB=000 000 000 000 000

0377

El overlap
EB=000 000 100 000 000

400

0777

E2 overlap
EB=000 001 000 000 000

1000

1377

EO or E1 or E2 or E3
in according with EBreg

»

1777

Continue to Read Only Memory

0000

E4
EB=000 010 000 000 000

1777

AGC Erasable Memory — Memory Map

- Unswitched-erasable block formed by 400(oct) 15bits-words

|:| Switched-erasable block formed by 400(oct) 15bits-words

E5
EB=000 010 100 000 000

E6
EB=000 011 000 000 000

E7
EB=000 011 100 000 000

3400

3777

Total phisical memory
available for Erasable Mem.
(2024 15-bits words)



Considering that Read Only
Memory has a 12-bits
address bus, can directly
address from 0000 to 7777
(form 000 to FFF in Hex)

ADDRESS!
available for
the CPU |

From Erasable Memory

AGC Read Only Memory — Memory map

| ADDRESS

I
rimplemented
|in Hardware

2000

3777

Bank 00 to 27
FEB=x FB/BB=00-27

24 banks — each bank
2000 (oct) words

4000

5777

Common-fixed mem
bank 02 overlap

6000

7777

Common-fixed mem
bank 03 overlap

_»

10600

4000

5777

6000

7777

Bank 30 to 37
FEB=0 FB/BB=30-37

8 banks — each bank
2000 (oct) words

2000 110000
Bank 40 to 43
FEB=1 FB/BB=30-33
e 4 banks - each bank
3777
hEN 2000 (oct) words 117777

N\
\
Total phisical memory
available for Erasable Mem.
(38912 15-bits words)

Fixed-Fixed memory block (direct addressing )formed by
1777(oct) 15bits-words

Common-Fixed memory block . In total 36 blocks/banks,
each formed by 1777 (oct) 15bits-words



